AP Stat 6&4@2 1.2Day1 Name:
Lesson 1.2: How many pairs of shoes do you own?
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1. How many pairs of shoes do you own? Record your answer on the board. l O H %

2. Is "Number of pairs of shoes” a categorical nariable? ] 1 2_/

3. Enter the data at www.stapplet.com. Make a dotplot, stemplot, and histogram and
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4. Describe the distribution of the number of pairs of shoes for your class.
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5. Which of the three types of display do you prefer? Why?
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6. Mrs. Gallas wonders if teachers have the same number of pairs of shoes as students.
She asked her colleagues to record the number of pairs that they had. The results are 4
below.
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7. Enter this data at stapplet.com. Be sure to make 2 groups (students and teachers).

8. Make dotplots, a side-by-side stemplot, and then histograms. Copy one of these

graphs below. {ﬁ \/\\ 561) A
Torlot- e/l N
ST Sds || +eathas
S o

» |
ST 4 6 SR A ;
2 LalrIs I8 w3

WX X K XX

9. Compare the distributions of the number of pairs of shoes for students versus
teachers. Be sure to address shape, outliers, center, and variability.
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Important Ideas
Describing Distributions — we will use ly words...you MUST use CONTEXT!
- Shape — S\Kfiﬂ / oppnX nopmal
- Outliers — ﬁ-— M- Flc abuf.
- Center — /Ma/\

- Variability __ %Y al (”@
Don’t forget your SOCS!

Check
1. The dotplot displays the scores of 21 statistics students on a 20-point quiz.

(a) What percent of students scored higher than 16 points? :
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(b) Describe the shape of the distribution. 1|2 1|4 1I6 1|s 2:'3
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(c) Are there any potential outliers? Why?
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2. Here is a back-to-back stemplot of 19 middle school students’ resting pulse rates and
their pulse rates after 5 minutes of running.

Write a few sentences comparing the distributions of
resting and after-exercise pulse rates.
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OU)V\‘ U For resting heart rate, 120 appears to be the

outlier. After exercise, 146 appears to be the

outlier. They both have large gaps between s 8|§i”smdem

them and the rest of their data points. whose pulse rate is
82 beats per minute.

Center: The center for after exercise is larger than the
center for resting. We would use the median because
they have outliers and skew.

Variability: The after exercise group has a larger
range, meaning the numbers are more spread out.
The range for after is about 60 and for resting is 52.



Given the following set of data, find the summary stats.

Awverage Monthly High Temperature (F®) For Two U.5. Cities
Franklin ~ Jackson f\fz 5 [ }7 !' Q
Jan. 29 15
w2 2 STas
vy 42 33 I A | s
ny 60 7 5% 1l ol
Aué. o9 77 " ,_é?chOS 2 6
o R O .
_— A Min=21 OV ey =0

List out the 5 number summary, the mean, S, and o, the IQR and see if you can find any outliers.

Create a box and whisker plot for each of the cities and then we will discuss what each one looks like.
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The first quartile (Q1) of a dataset is 12 and the third quartile (Q3) is 18. What is the largest value above Q3 in the
dataset that would not be a potential outlier?
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Comparing the two box and whisker plots from above

Franklin appears to be approximately symmetric while Jackson appears to be
slightly skewed to the right. There are no outliers in either city. The spread of the
data seems to be more variable in Jackson since the IQR is larger while the spread
of data in Franklin is smaller, with a range of 31 compared to a range of 63. The
median for Jackson is less than the median for Franklin. Slightly more than 25% of
the lower temperatures for Jackson are less than the minimum temperature for
Franklin.



